

## RIVERWOOD ROGER + PAT WILDER 10580 HIGHWAY 9 BEN LOMOND, CALLER 95005 PHOTO TAKEN 1982 FRONT LEFT SIDE

PHILLIPSHURST/RIVERWOOD

10580 Highway 9 Ben Lomond, Santa Cruz County, CA

Photo 3 of 8

PHOTO BY ROGER WILDER

10580 Highway 9 Ben Lomond, CA 95005 1982

North wing, camera looking southeast



PHILL IPSHURST/RIVERWOOD

10580 Highway 9 Ben Lomond, Santa Cruz County, CA

Photo 4 of 8

#### VIEW OF FRONT FACADE WEST TO EAST

IN VIEW ARE: GREAT HALL, PHILLIPSHURST WING, TOWER HOUSE, SOUTH WING. PHOTOGRAPHED 1980 NEGATIVE LOCATED 10580 HIGHWAY 9 BEN LOMOND, CA.

Photo by Peter Amos, Santa Cruz Sentinel 1980

\_\_\_\_View of front of house showing (left to right) Great Hall, Phillipshurst Wing, Tower House, South Wing, Camera looking southeast.



RIVERWOOD/PHILIPSHURST PAT AND ROGER WILDER 10580 HIGHWAY 9 BEN LOMOND CALIF. 95005

PHILL IPSHURS T/RIVERWOOD

10580 Highway 9 Ben Lomond, Santa Cruz County, CA

Photo 8 of 8

Photo by Roger Wilder 10580 Highway 9 Ben Lomond, CA 95005 c. 1980 View of Gatehouse, camera looking northeast



# RIVER WOOD ROGER + PAT WILDER 10580 HIGHWAY 9 BEN LOMOND, CALIF. 95005 PHOTO TAKEN 1982 (R.WILDER) RIGHT SIDE FRONT

PHILLIPSHURS T/RIVERWOOD

10580 Highway 9 Ben Lomond, Santa Cruz County, CA

Photo 2 of 8

PHOTO BY ROGER WILDER

10580 Highway 9 Ben Lomond, CA 95005 1982

\_\_\_\_\_Main entrance, camera looking northeas



PHILLIPSHURST/RIVERWOODVIEW OF GREAT HALL INTERIOR10580 Highway 9PHOTOGRAPHED 1980Ben Lomond, Santa Cruz County, CANEG. LOCATION: 10580 HIGHWAY 9

Photo 5 of 8

Photo by Peter: Amos, Santa Cruz Sentinel 1980

\_\_\_View of great hall interior



#### PHILL IPSHURST/RIVERWOOD

10580 Highway 9 Ben Lomond, Santa Cruz County, CA

Photo 6 of 8

Photo by Peter Amos, Santa Cruz Sentinel 1980

\_\_\_\_View of library

LIVERIDOD (ROCER + PAT WILDER) 0580 HIGHWAY 9, BEN LOMOND AUF. 95005

IBRARY TAKEN 1980 BY PETER AMOS, SANTA CRUZ SENTINEL



PHILLIPSHURST/RIVERWOOD

10580 Highway 9 Ben Lomond, Santa Cruz County, CA

Photo 7 of 8

Photo by Peter Amos, Santa Cruz Sentinel 1980

\_\_\_\_\_View of living room in Phillipshurst wing

VIEW OF LIVING ROOM IN PHILLIPSHURST WING. NEG. LOCATION: 10580 HIGHWAY 9 BEN LOMOND, CA. PHOTOGRAPHED 1980



### RIVERWOOD ROGER + PAT WILDER 10580 HIGHWAY 9 BEN LOMOND, CALIF. 95005 PHOTO TAKEN 1982 (R.WILDER) RIGHT SIDE FRONT

PHILL IPSHURS T/RIVERWOOD

10580 Highway 9 Ben Lomond, Santa Cruz County, CA

Photo 1 of 8

PHOTO BY ROGER WILDER 10580 Highway 9 Ben Lomond, CA 95005 1982

\_Main facade, camera looking north